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i 1
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(omnidirectional antenna)
(directional antenna)
(area control) 7 (sector) 31
(Bangkok Air Traffic Control Center : BACC)
31
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(radio
airfground station)

(Remote Control Air/Ground : RCAG )
RCAG L U 32

31 RCAG PHN 19000
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31
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60%
0 %

31) 1 MK RCAG KM

(Nautical Mile : NM)
1 18

Pr(dB) = Pt + Gt + G r- 32.45 - 2010g(/) - 20109(/) (30)

Pt =

Gt =

Gr=

| = VH:
) VK

VK
215 dBi Pr -100dB

1205 MHz 85.71
46000  (7.79 ) (32

Pt(dB) = Pr-Gt-Gr +3245+2010g(/0 + 2010g()) (32
R=V85.712+7.792 = 8.1 NM= 1549 Km

(32
Pt=- 100- 2.15- 2.15+32.45 + 20log(154.9) + 201090 205) = 1357 5 = 22.75



Pt -

34

Pr(0-i)(10)40)0) =-90.42 5
Prit-0,(-10( ) ) =-9343 5
D 02202002 - -96.44 5

LAY -3

p 22222222 =994 5 (

P e e ~

) RCAGKM

215dB -100dB

46000 (T7NM)

5142 NV
1213 NM
10285 NM
11314 NM

144 NM

5 =VE85.712+7.192 = 97. 45 NM = 17541 Km

pr(0-0),( 10,(10,01) =-89.34 5
Pr(i,-]),(-|,]),(|,]),(_|,]) =-92.35 5
0 02,20,20,0-2) = -95.36 5

AR

pr(2,-2),(-22)(2.2),(-22) =-98.29 5 (

—~~ —~\ —~

34

- 100- 2.15- 2,15+ 3245+ 2010g(175.41)+ 20 10g(120.5) =

5142 NM
1213 NM
10285 NM
11314 NM

144 NM

25

97.14 NM

1465 5 =29

460 )
4600 )
460 )
46000 )

16000 )
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]

MK

RCAG KM

=619dB
= BB
=40B
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5% RCAG KM 0%

degfLsssonivK

:’ Mmgydraant KM
E nrunInAeFTNA I

1 MK RCAG KM
) MWK
VK
920 dBi Pr 10048
1205 MH 1085
Mo @™ ) 32)
R=V/142.852+7.792 = 14306 NM = 2575 K
(32

Pt=-100- 9.22 + 215+ 32.45 + 2010g(257.5) + 20 log(120.5) = 10.98¢B = 1253

36

27
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Pr(2.0=-950B | BIBNM 4500 )

Pr(2.2=-95.280B ( 0B/NM 4600 )
Pr(2.9=-91.09B ( 355N 45000 )
Pr(2.4)=-99.050B ( 56N 400 )
P03 =-99.3708 | BOTNM 46000 )
) RCAGKM
215 o6
5 B 1008
10857 NM M0 (TTNM)

R=-V108.572+7.792 = 108.85 NM = 19592 Km

Pt=-100- 15- 2.15+32.45 + 20109(195.92) + 20l0g(120.5) = 14.650B = 189

36
Pr(,.0=-99AdB | BN 400 )
Pr(12)=-96.308 | BBNM 400 )
Pr(, 9=-9645B ( BONM 400 )
Pr(0.9 = -91.094B ( BN 4600 )
) MK RCAG KM
1 o458
A =02 B
B - 1363 B

C = 1252 B
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1205MHz

34

2')
(VK
B ( )

)
310

3

38
RCAG LB

33

| 1
1 VHF airfground 2
(KW
2 310
3 MK 5
RCAG KM 6

=] 311

1
2
2 VHF airfground 4
(K1) KN
133.IMHz 4
313 VK

37 RCAG KT 5

RCAG KN 6 44

5 3 RCAG UB
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3 VHF air/ground 3
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4 22 RCAG HTY 6
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) 4 VHF airfgiound 3
(N9) , fi
128 IMHz 4 316
317 MK 5 24 RCAG NS

5 2 31 RCAG KN 6
21
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5) 5
5 VHF airfground 2
PY (SM) 126.6MHz
2 318
319 RCAG SM 3 38  RCAG M
6 35 RCAG PU 3
37

nMaanuuY

U 3.19 wuugUMSUHKRAIUAMMUA

5 5
6 ) 6
6 VHF airfground 2
(HTY ) 123 95MHz
2 320
32 RCAG SM 3 36 RCAG
HTY 5 5 5

4
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7) i
T VHF air/ground 3
(08 ) (LP) ,
132.1MHz 3 322
323 RCAG LP
5 4 3 33

RCAG KN
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323 7
100dB
B0 (179
)
215 dBi
1 1
11 MK
1005 MH:z
148 NM 920 dBi
(32

pt=-100-9.22-2.15 +32.45 + 2010g(A) + 20109(120.5)
r=-\142.852+7.79; =143.06i\VM = 2575Km



15 dBi

117NM

1323 dBi

40

Pf=-100- 9.22- 2.15+32.45 + 48.22 + 41.62
=10.98JP = 12.53W

12 RCAG KM
10885NM

R=-Vi08.572+7.792 =108.85AM 195.92Am,
P/=-100- 9.22-2.15 +32.45 + 2010g(195.92) + 20 log(120.5)
= 2.760B = 1.89

2
21 K
131 MHz
861 dBi

R=y] 2+7.792 =117.26HM =211.07Km,
Pt =-100 - 8.61- 2.15+32.45 + 20109(211.07) + 20 log(133.1)

= 10.66%75 = 11.65W

22 RCAGKT
17 NM

R=J117247.792 =117.26NM =211.07Knm.
Pt = - 100- 1323 2.15+32.45 + 20log(211.07) + 20 log(133.1)

=6.04dB=4.2

23 RCAG KN
108 NM 15 dBi

R=VI082+7.792 = 108.28HM =194.91Am
Pt=-100-17 - 215+ 32.45 + 2010g(194.91) + 2010g(133.)

= 158dB = L4W



256/ NM

15 dBi

41

24 RCAGLB
) 147NM
1323 dBi

R=VI472+7.792 =\41.20NM =264.97Km.
Pt=-100-13.23 - 2.15+32.45 + 20100(264.97) + 20109(133.])
= 5.020B = 6.34

) 156NM
15 dBj

R=M562+7.792 =\56.\9NM =25\.\4Km.
Pt =-100-15-2.15 +32.45 +2010g(281.14) + 2010g(133.)
=6.760B=4.74 '

3
31 MK
m.oMHz.
9.14 dBi

R=V256.672+7.792 = 256.79NM = 420.22Km.
Pt=-100- 9.14- 2.15 + 32.45 + 20 l0g(420.22) + 2010g(135.5)
=16.26dB = 42.35W

32 RCAGHIY
300 NM

R = V300247792 =300.\NM =540.1SKm.
Pt=-100-15 - 215+ 32.45 + 2010g(540.18) + 2010g(135.5)

= 12,5975 = 18.15W
32 RCAGPHN

1) 22667 NM
1323 (B

R=V226.672+7.79% =226.5NM =m.24Km.
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pr=-100-13.23 - 2.15 +32.45 + 20100(408.24) + 2010g(1355)
= U.93dB = \5.50W

) 20667 A
914 4B

R=v206.672+1.192 = 226.81AM = 372.26Km.
Pt=-100 - 9.14- 2.15 +32.45 + 20log(372.26) + 20 log(135.5)

=15.2\dB = 33.23W

41 MK
1281 MHz 180 NM
1323 dBi

R- V180247,792 =180.17AM = 32430 ™
P/ =-100- 13.23- 215+ 32.45 + 2010g(324.3) + 2010g(128.])

= 9A4dB = 8,79y

42 RCAGNS
) 102 AM
1323 dBi

R=VI022+7.792 =102.3AM =184.13Km.
Pt =-100 -13.23 - 2.15 + 32.45 + 2010g(184.13) + 2010g(128.1)

=4.520B = 2.83

) 108 AM
1323 4B

R=VI082+7.792 =108.28NM = 194.9Km.
Pt=-100-13.23 - 2.15 + 32.45 + 20100(194.9) + 2010g(128.1)

=5.027 = 3.17W
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44 KN
159 NM
1323 dBi

R=VI592+7.792 = 159.19NM = 286.54Km.
Pt =-100 - 13.23- 2.15 +32.45 + 2010g(286.54) + 2010g(128.1)

= 8,36 = 6.86W
5 5
51 RCAGSM
) | 1266 MH:
13579 NM 86L dB

R=V13579247.792 =136.01AM = 244.82Am.
Pt=-100- 8.61- 2.15 + 32.45 + 2010g(244.82) + 20109(126.6)

= 11.49(75 = 1407

) 16737 NM
1323 4Bi

R =V/167.372+7.792 =167.55NM =30159Km.
Pt = -100-13.23 - 2.15+32.45+ 2010g(301.59) + 2010g(126.6)

= 8,715 = 743W

52 RCAGPU

138% NM
674 dBi

R=VI138.95247.792 = 139.L7AM = 25IKm.

Pt =-100 - 6.74-2.15 + 32.45 + 2010g(251) + 2010g(126.6)
=\3.60B = 22.92W

b 6

61 RCAG M



14285 NM

9473 NM

44

1239 MHz.
6.74 dBi

R=V142.852+1.192 = 143.065NM = 257.51Km.
Pt =-100 - 6.74-2.15 +32.45 + 2010g(25751) + 2010g(123.95)

=\3MdB =23.2W

62 RCAGHIY
)
13.23 dBI
R=-/(+7.792 =80.38NM = 14468 Km
Pt =-100 - 13.23-2.15 + 32.45+ 20109(144.68) + 2010g(123.95)

=2.MdB =\MW

) BN M
BA 4B
R =VI42.86247.792 = 14307NM = 257.52Km.
pt=-100- 1323~ 215+ 32,45+ 2010g(257.52) + 2010g(123.95)
=2.\5dB =5.\9W

:
/1 RCAGDO
! 121 MHz
1323 dBi

R=J94.732+7.792 =9506HM =171.Hm.
Pt=- 100-13.23 - 2.15 +32.45 + 20log(1711) + 20 log(132.])

=4.15"5 = 26W

72 RUAGLP
) 11368 NM

922 dBi
R=Vi13g82+7.792 =113.95NM =205.1\Km.

80 NI



Pt=-100- 9.22- 2.15+32.45+ 2010g(205.11) + 20 log(132.1)
= 9.1AdB = 9.1411V

) 1IN
674 dBi

R=VI42.1247.792 =142.39NM = 256.17Km.
Pt=-100 - 6.74- 2.15+32.45+ 20l0g(256.17) + 2010g(132.1)

= \4A4dB = 26W

13 RCAG KN
1389 NM
806 dBi
R=VI38.952+7.792 =139.171M = 25057 .
Pr=-100- 8.06- 2.15+ 3245+ 20109(250.5) + 2010g(132.1)
=\2.630B = 18B3VT
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